





---------- GRUNER =S TG [JSSEEE———

3A%:57(xA2) = 15

37x-57(x"2) = 15

log[5](3) = 0,68260

log[5](15) = 1,68260

(570,68260)"x-5"(x"2) = 51,68260

5(0,68260x)-5(x"2) = 5"1,68260

rappel: si m*a = m*b-m~c alors a = b + c (exemple: 32:33 = 9.27 = 35 = 243)
méme base (= 5), donc:

0,68260x + x"2 = 1,68260

x"2 + 0,68260x - 1,68260 = O

A = 0,68260% - 4-1--1,68260 = 7,19634

VA = V7,19634 = +2,6826 et -2,68260

e cas VA = +2,68260: x = (-0,68260 + 2,68260)/2-1 = 2/2 =1
e cas VA = -2,68260: x = (-0,68260 - 2,68260)/2-1 = -3,36520/2 = -1,68260
| x=1 |



